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HINTS & SOLUTIONS

Phrase palm something offmeans to tell somebody that
something is better than it is, especially in order to sell
it.

They believe that these institutions have the requisite
knowledge and will act only in favour of the general
public.

As the institution is responsible for not encouraging
examiners to venture outside the rote process.

Little Deceptions Add to Larger Trust-Deficit.

Examiners are not devoted to their jobs.

Refer to second paragraph of the passage.

Premium means very high; of high quality; extra.-So;
extra is the correct word which is similar in.meaning to
it.

Recountmeans to tell somebodyabout something;
especially something that you have experienced:"So,
narrated is the correct word which is similar.in‘meaning
toit.

Repeat means an event that is very similar to.something
that happened before; to happen again. So, new is the
correct word which is opposite in.meaning to it.
Unskilled means not having or needing special skills or
training. So, trained is the correct word which is opposite
in meaning to it.

‘alight, tied’ is the correctuse.

Alight - to descend from a train, bus, ar other form.of
transport.

Tied -fastened or attached with a string or similar cord.
‘from, to’ is the correct use.

From is used to express the duration or starting.point of
an activity.

To is used to indicate a limit or an.ending point.

‘working, condemned’ is the correctuse.

Condemn - to criticize.

‘left, including’ is the correct use.

‘directed, form’ is the correct use.

Change ‘I' (subject) to ‘me’ (object).

Change ‘despite of’ to ‘despite’ as despite is not followed
by ‘of".

Change ‘how | have not’ to ‘why | had not’ as sentence is
in past.

Change ‘Buy’ to ‘Buying’ as Buying (gerund) is the subject
of the sentence.

No error

Replace ‘come to alternate’ with ‘comes to alternate’

No correction required.;

Replace ‘need for utilise’ with ‘need to utilise’.

Replace ‘Despite public’ with ‘though public’.

No correction required;
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characterize
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31.(3)

32.(5)

33.2)

34.4)

35.(4)

36.(3)
37.(5)
38.2)
39.(1)
401(4)
41.(5)

421(1)

43.2)

X =-ve
y =+tve
Eth ] y

x=-5,4;y=-5,6

No relation can't be established.
x=%1

y=-3,—-1

X = y

<y

Thepatternis:x3+1,x3+2,x3+4,x3+8
The patternis :x1-2,x2-2,x3-2,x4-2
The pattern is : x1+ (1)%, x2 + (2)%, x3 + (3)%, x4 + (4)?
+7,+11,413, +17.
Thepatternis: x2 +1,x2+3,x2+5,x2+7
50 = %x 100
50 CP = 1200 — 100 CP
CP=8
Required CP =8 x 3650 = 29200 Rs.
45% — 40500

40500

145% = S 145 = 130500 Rs.

let CP of Potter Ain 2000=100

~SP=25%% 100 = 160Rs.
100

- Required Ratio = 10
100

=8:5
Amount is not given in any case.
Required % = — X 100 ~ 9%

20% of 2040
20% of 1450

12%of 1450 =174

No of children in village M and N together

=(25 +10)% 0f 2040 =714

No of children attending school from village M and N
together

=(32 +12)% of 1450 = 638.

Required No. of Children =714 638 =76

55 % 0f 2040 = 1122

Required percentage

1450%x—

— 100 =
= m x 100 = 66%

100
Equalted rate of interest for 4 years
=6+65+7+75
=13+14=27

~Required loan = % x 100

= 12500 Rs.

=204:145
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52.(3)

Givenmr? = 98.56
22

TTZ =98.56

. 89.6

s >, 7

=448x7

r? =3136

r = b.6ft

Required cost= 2mr X 614

22
=2><7x5.6><614

=2x%x22x08x614
=21612.8Rs.

Aman Vimal Raman

117 90 100

307 = 6447

1 - 6447

307
6447

1517 X 117 = 21 X117 = 2457 Rs.

228 % 100 =2 x 100
400

" 336x400
192
x =700

AC(in 1 hr) — 16 units

Bulb (in 1hr) = 18 x 6 = 3 units
In 1 hr both will consume = (16 + 3) x 8 x 10

=80X19
= 1520units

Required amount = 4000(1 - 1% 3

=4410Rs.
S-H=2R-4
45—-16=3R—12
4S—3R=4 ... (i)
and(s + 4) = %(R +4)
68 +24=5R+20

6S —5R=—4......(i0)
from (i) and (ii)
R=20

S=16years

50=2 %60
44

5x44

d=

L3
5x44

N(}WTZBSXt

_ 4x5

3 6X5
=-hr

3
=5 % 60min

=40 min

4 RACE

(2%x3)°+(4x9)2x(27+8)> = (6)
= 6%+ (36)?x (216)* = (6)°

=63+ (62)2x (6%)2 = (6)

= 6374+6 — (6)7

=7=5

V576 + (4 X 74+ (7)3-231=1?
=24 +16%7.4+343-231=7?
=15x74+343-231="7
=111+343-231=7
=7=1231
(Vi-2)' =7 —12-v36
=3+4-4/3=2-23-6
=2?7=7-4/3+23+6
=13- 2\-"§

Sonu

Tulu
67.(1)
69.(3)

(Bulgaria) (Japan) (Kenya) (Iraq) (Australia)
G ] H F I
I | | | |

| | | | |
v w U X Y
(Iran) (Belgium) (Indonesia) (India) (Russia)
F belongsto Irag
U is'from Indonesia

Amongall options only Russia sits at the extreme ends.

\-‘_F'/
transformer

Totalage= 24X 5= 120 yr
8 years ago, their totalage=120—8 X 5= 80yr
a8

< Required average = ?0 = l6years

Passingmarks =40+30=70
35% — 70

1% — 0
35

100% — % %100 =200

98 + 14 X 49 - 294 = (2)?
=7 x49-294 =(?7)2
=343 -294 =(7)2

= (?7)? =49
=2?7=Tor-7
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deadpool :I

There
Take
Books
Them
These/Are
Are/ These

87.(5)

89.(3)
That particular lady will be cousin(maternal sister) of
Arijit.
Govt should immediately provide food, water and
fodder.so only Il follows.
City police should keep close vigil on all the anti social
elements. So, only Il follows.
Banning is not a solution. people should encouraged to
take fresh vegetables and fruits, so only Il follows.
India should talk seriously with:their neighbours.

D>A>C>E>F>B
97.(5)
99.(1)
Child write with “Pencil” and pencilis called “Sharpner”.




